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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 
Question 1: A. chore    	B. check	C. chef    	 	D. choose
Question 2: A. walk	B. harm	C. task   		D. part
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 
Question 3: A. career    	B. support    	C. account    		D. contact
Question 4: A. medical    	B. adequate	C. successful    		D. natural
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 5: Hemingway used the experience and knowledge ______ during World War I as material for his best-known novel For Whom the Bell Tolls.  
	A. gain	B. gaining		C. gained			D. to gain
Question 6: Anna is ______ person I’ve ever known.
	A. most intelligent		B. more intelligent	C. the most intelligent	D. intelligent
Question 7: I will read my favourite novel ______.
	A. as soon as I eat dinner.				B. as soon as I have eaten dinner.
	C. after I had finished dinner 				D. before I ate dinner.
Question 8: It was very good ______ you to help Dave with his homework.
	A. of		B. to		C. with		D. for
Question 9: James often goes swimming in the summer, ______ ?
	A. does he		B. is he		C. doesn’t he	D. didn’t he
Question 10: They will celebrate ______ 25th Anniversary of the school next Saturday.
	A. Ø (no article)		B. the		C. a	D. an
Question 11: It is very necessary for students to have full ______ to all library facilities, including multimedia.
	A. access		B. license		C. agreement	D. update
Question 12: He did not ______ much of what the lecturer was saying, because it was so complicated.
A. bring in		B. take up		C. take in			D. turn up
Question 13: We’ve arranged ______ each other outside the school at 4.30.
	A. to meet	  	B. meet	C. meeting   	D. to meeting
Question 14: He had been lied to and ______ in the back by people that he thought were his friends.
A. knew		B. stabbed		C. gripped	D. tabbed
Question 15: While I was surfing the Net yesterday, I ______ a really interesting website.
	A. found		B. was finding	 C. have found	D. had found
Question 16: He decided to sell his farm and ______ a fresh start in business.
	A. open   		B. make   		C. take   	 D. lead
Question 17: In some rural areas, health care ______ by a small number of doctors and nurses.
	A. is providing		B. is being provided	C. provides			D. provided
Question 18: All the guests got dressed in ______ costume.
	A. nation    		B. nationalize	   	C. national    	D. nationally
Question 19: According to the latest ______ poll, the government is more popular now than at any time since the election.
	A. belief		B. conviction		C. opinion			D. judgement
Mark the letter A, B, c, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.
Question 20: Bob and Mary are having a party at Bob’s house.
- Bob: “Would you like to have some more cake, Mary?” 
- Mary: “______. It’s delicious.”
	A. That’s right 		B. Yes, I like your party 
  	C. Yes, please 		D. No, thanks
Question 21: Mr Brown and Mr Smith are talking about students’ use of mobile phones in class.
- Mr Brown: “I think mobile phones should be banned in class.”
- Mr Smith: “______. In many cases, it’s useful.”
	A. That’s a great idea 	B. That’s not a good idea 
	C. I’m not wrong 		D. You are right
Mark the letter A, B, c, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 22: Many ethnic groups in the world find it hard to maintain their own languages nowadays.
	A. keep 	B. abandon	C. preserve	D. speak 
Question 23: Although they have a lot of difficulties in their life, they tend to look on the bright side in any circumstance.
	A. be optimistic 	B. be pessimistic 	C. be confident 	D. be smart
Mark the letter A, B, c, or D on your answer sheet to indicate the word CLOSEST in meaning to the underlined word in each of the following questions.
Question 24: Internet search engines can help to predict the weather as well as traffic jams in a city.
	A. announce	B. expect	C. forecast	D. reveal
Question 25: This scholarship is being established in her name as a permanent reminder of her work. 
	A. famous	B. everlasting 	C. important	D. popular 
Mark the letter A, B, c, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 26: It is necessary for you to finish the report tomorrow afternoon.
	A. You needn’t finish the report until tomorrow afternoon.
	B. You have to finish the report tomorrow afternoon.
	C. You may finish the report after tomorrow afternoon.
	D. You can finish the report tomorrow afternoon
Question 27: The last time she went shopping was two weeks ago.
	A. She has not gone shopping for two weeks.
	B. She used to go shopping for two weeks.
	C. She often went shopping two weeks ago.
	D. She last went shopping for two weeks.
Question 28: The manager said “When will it be convenient for you to start work, John?”
	A. The manager asked John when will it be convenient for him to start work.
	B. The manager asked John when it will be convenient for him to start work.
	C. The manager asked John when would it be convenient for him to start work.
	D. The manager asked John when it would be convenient for him to start work.
Mark the letter A, B, c, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 29: Determination must be made by uninterested trustees or independent legal counsel.
                               A                                                 B              C                     D
Question 30: She leaves the cookery book on the table in the kitchen yesterday afternoon.
                                 A              B                                         C                                      D
Question 31: The schoolgirl always prepares her lessons carefully so that she can understand it well.
                                     A                         B                              C                                                D
Mark the letter A, B, c, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Question 32: My aunt didn’t turn up at my parents’ wedding anniversary. I feel so sorry for that.
	A. If only my aunt turn up at my parents’ wedding anniversary.
	B. I wish my aunt turned up at my parents’ wedding anniversary.
	C. I wished my aunt had turned up at my parents’ wedding anniversary.
	D. It’s a shame my aunt had turned up at my parents’ wedding anniversary.
Question 33: My sister explained the way to cook the traditional food again. I could understand it.
	A. I couldn’t understand the way to cook the traditional food when my sister explained it.
	B. It was until my sister explained the way to cook the traditional food again that I could understand it.
	C. Not until my sister explained the way to cook the traditional food again could I understand it.
	D. No sooner did my sister explain the way to cook the traditional food again than I could understand it.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38. 
	Gap year is the term used to describe the year that some students take off before going to university. Gap year are quite popular in (34) ______ countries, including the UK, Australia and Germany. There are a variety of options available for people (35) ______ are thinking of taking a gap year. One is to spend the year travelling around the world. Another (36) ______ is to spend the year at home getting work experience. A third option is to do volunteer work, either at home or abroad. Some years ago, Sam Cooke chose this option and travelled to Ecuador to (37) ______ tuition in basic literacy for underprivileged children. “It was a wonderful experience and it really helped me become mature”.
	(38) ______, Sam warns that it’s not for everyone. “Voluntary work is certainly not an easy option and before you go you should make sure you are properly informed about the living conditions you will find there. Young people need to ask themselves if they’ll be able to put up with these conditions for a whole year.”
Question 34: A. much		B. every				C. many			D. other
Question 35: A. whose	B. which	C. when		D. who
Question 36: A. possibility	B. ability	C. probability		D. chance
Question 37: A. present	B. provide	C. offer		D. supply
Question 38: A. So	B. However	C. Although		D. But
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39 to 43.
[bookmark: _Hlk132464478]One of the most famous statues in the world stands on an island in New York Harbour. This statue is, of course, the Statue of Liberty. The Statue of Liberty is a woman who holds a torch up high. Visitors can go inside the statue. The statue is so large that as many as twelve people can stand inside the torch. Many more people can stand in other parts of the statue. The statue weighs 225 tons and is 301 feet tall.
The Statue of Liberty was put up in 1886. It was a gift to the United States from the people of France. Over the years France and the United States had a special relationship. In 1786, France helped the American colonies gain independence from England. The French wanted to do something special for the U.S. centennial, its 100th birthday.
Laboulaye was a well-known Frenchman who admired the United States. One night at a dinner in his house, Laboulaye talked about the idea of a gift. Among Laboulaye’s guests was the French sculptor Frederic Auguste Bartholdi. Bartholdi thought of a Statue of Liberty. He offered to design the statue.
Many people contributed in some way. The French people gave money for the statue. Americans designed and built the pedestal for the statue to stand on. The American people raised money to pay for the pedestal. The French engineer Alexander Eiffel, who was famous for his Eiffel Tower in Paris, figured out how to make the heavy statue stand.
In the years after the statue was put up, many immigrants came to the United States through New York. As they entered New York Harbour, they saw the Statue of Liberty holding up her torch. She symbolized a welcome to land of freedom.
Question 39: Which of the following can be the best title for the passage?
	A. Laboulaye – a Well- known French Sculptor		
	B. The Relationship between France and America 
	C. A special gift: The Statue of Liberty			
	D. The first immigrants to the United States
Question 40: According to paragraph 4, the pedestal for the statue was _______. 
	A. designed and built by Bartholdi	
	B. as famous as the Eiffel Tower in Paris
	C. designed and paid for by Americans	
	D. not strong enough for the heavy statue to stand on
Question 41:  The word “its” in paragraph 2 refers to _______. 
	A. American	B. France	C. England	D. the U.S
Question 42:  The word “raised” in paragraph 3 is closest in meaning to ______ .
	A. earned		B. spent	C. collected	D. kept
Question 43:  All of the following statements are true EXCEPT _______.
	A. The statue was the result of a very good relationship between France and the USA
	B. The statue is large enough for twelve people to stand in it
	C. The French made the statue a gift to the USA on the occasion of its 100th birthday
	D. The Statue of Liberty is a woman who holds a torch up high
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the question from 44 to 50.	
	Critics of zoos would argue that animals often suffer physically and mentally by being enclosed. Even the best artificial environments can't come close to matching the space, diversity, and freedom that animals have in their natural habitats. This deprivation causes many zoo animals to become stressed or mentally ill. Capturing animals in the wild also causes much suffering by splitting up families. Some zoos make animals behave unnaturally: for example, marine parks often force dolphins and whales to perform tricks. These mammals may die decades earlier than their wild relatives, and some even try to commit suicide.
	On the other hand, by bringing people and animals together, zoos have the potential to educate the public about conservation issues and inspire people to protect animals and their habitats. Some zoos provide a safe environment for animals which have been mistreated in circuses, or pets which have been abandoned. Zoos also carry out important research into subjects like animal behaviour and how to treat illnesses.
	One of the most important modern functions of zoos is supporting international breeding programmes, particularly for endangered species. In the wild, some of the rarest species have difficulty in finding mates and breeding, and they might also be threatened by poachers, loss of their habitat and predators. A good zoo will enable these species to live and breed in a secure environment. In addition, as numbers of some wild species drop, there is an increased danger of populations becoming too genetically similar. Breeding programmes provide a safeguard: zoo-bred animals can be released into the wild to increase genetic diversity.
	So, are zoos good for animals or not? Perhaps it all depends on how well individual zoos are managed, and the benefits of zoos can surely outweigh their harmful effects. However, it is understandable that many people believe imprisoning animals for any reason is simply wrong.
Question 44: Which of the following does the passage mainly discuss?
	A. Artificial environments can't benefit animals as their natural habitants do.
	B. It is wrong to imprison animals for any reason.
	C. Well managed zoos can do more good than harm to animals.
	D. There are both proponents and opponents of zoos.
Question 45: The word abandoned is closest in meaning to ______.
	A. ignored	B. injured	C. caught		D. hunted
Question 46: According to the passage, dolphins and whales are examples of ______.
	A. conserving mammals for education	B. materials for studying zoology
	C. abnormal manners in mammals	D. animals in their natural habitat
Question 47: The word they in paragraph 3 refers to ______. 
	A. zoos		B. breeding programmes
	C. the rarest species		D. mates 
Question 48: The word poachers is closest in meaning to ______.
	A. predators	B. illegal hunters	C. harmful insects		D. diseases
Question 49: Which of the following is NOT true according to the passage?
	A. Endangered species often lack genetic diversity in their population  
	B. Genetic diversity can be promoted thanks to breeding programmes.
	C. Only animals living in the modern zoos suffer physically and mentally
	D. Some endangered species have difficulties meeting a mate and breeding in the wild
Question 50: Which of the following can be inferred from the passage?
	A. Imprisoning animal is a wrong act for any reason.
	B. The belief that capturing animals is wrong is inevitable.
	C. Zoos are safe places for breeding programmes.
	D. The writer disagrees that animals should be kept in the zoo.
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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 
Question 1: A. chore    	B. check	C. chef    	 	D. choose
Question 2: A. walk	B. harm	C. task   		D. part
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 
Question 3: A. career    	B. support    	C. account    		D. contact
Question 4: A. medical    	B. adequate	C. successful    		D. natural
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 5: Hemingway used the experience and knowledge ______ during World War I as material for his best-known novel For Whom the Bell Tolls.  
	A. gain	B. gaining		C. gained			D. to gain
Question 6: Anna is ______ person I’ve ever known.
	A. most intelligent		B. more intelligent	C. the most intelligent	D. intelligent
Question 7: I will read my favourite novel ______.
	A. as soon as I eat dinner.				B. as soon as I have eaten dinner.
	C. after I had finished dinner 				D. before I ate dinner.
Question 8: It was very good ______ you to help Dave with his homework.
	A. of		B. to		C. with		D. for
Question 9: James often goes swimming in the summer, ______ ?
	A. does he		B. is he		C. doesn’t he	D. didn’t he
Question 10: They will celebrate ______ 25th Anniversary of the school next Saturday.
	A. Ø (no article)		B. the		C. a	D. an
Question 11: It is very necessary for students to have full ______ to all library facilities, including multimedia.
	A. access		B. license		C. agreement	D. update
Question 12: He did not ______ much of what the lecturer was saying, because it was so complicated.
A. bring in		B. take up		C. take in			D. turn up
Question 13: We’ve arranged ______ each other outside the school at 4.30.
	A. to meet	  	B. meet	C. meeting   	D. to meeting
Question 14: He had been lied to and ______ in the back by people that he thought were his friends.
A. knew		B. stabbed		C. gripped	D. tabbed
Question 15: While I was surfing the Net yesterday, I ______ a really interesting website.
	A. found		B. was finding	 C. have found	D. had found
Question 16: He decided to sell his farm and ______ a fresh start in business.
	A. open   		B. make   		C. take   	 D. lead
Question 17: In some rural areas, health care ______ by a small number of doctors and nurses.
	A. is providing		B. is being provided	C. provides			D. provided
Question 18: All the guests got dressed in ______ costume.
	A. nation    		B. nationalize	   	C. national    	D. nationally
Question 19: According to the latest ______ poll, the government is more popular now than at any time since the election.
	A. belief		B. conviction		C. opinion			D. judgement
Mark the letter A, B, c, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.
Question 20: Bob and Mary are having a party at Bob’s house.
- Bob: “Would you like to have some more cake, Mary?” 
- Mary: “______. It’s delicious.”
	A. That’s right 		B. Yes, I like your party 
  	C. Yes, please 		D. No, thanks
Question 21: Mr Brown and Mr Smith are talking about students’ use of mobile phones in class.
- Mr Brown: “I think mobile phones should be banned in class.”
- Mr Smith: “______. In many cases, it’s useful.”
	A. That’s a great idea 	B. That’s not a good idea 
	C. I’m not wrong 		D. You are right
Mark the letter A, B, c, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 22: Many ethnic groups in the world find it hard to maintain their own languages nowadays.
	A. keep 	B. abandon	C. preserve	D. speak 
Question 23: Although they have a lot of difficulties in their life, they tend to look on the bright side in any circumstance.
	A. be optimistic 	B. be pessimistic 	C. be confident 	D. be smart
Mark the letter A, B, c, or D on your answer sheet to indicate the word CLOSEST in meaning to the underlined word in each of the following questions.
Question 24: Internet search engines can help to predict the weather as well as traffic jams in a city.
	A. announce	B. expect	C. forecast	D. reveal
Question 25: This scholarship is being established in her name as a permanent reminder of her work. 
	A. famous	B. everlasting 	C. important	D. popular 
Mark the letter A, B, c, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 26: It is necessary for you to finish the report tomorrow afternoon.
	A. You needn’t finish the report until tomorrow afternoon.
	B. You have to finish the report tomorrow afternoon.
	C. You may finish the report after tomorrow afternoon.
	D. You can finish the report tomorrow afternoon
Question 27: The last time she went shopping was two weeks ago.
	A. She has not gone shopping for two weeks.
	B. She used to go shopping for two weeks.
	C. She often went shopping two weeks ago.
	D. She last went shopping for two weeks.
Question 28: The manager said “When will it be convenient for you to start work, John?”
	A. The manager asked John when will it be convenient for him to start work.
	B. The manager asked John when it will be convenient for him to start work.
	C. The manager asked John when would it be convenient for him to start work.
	D. The manager asked John when it would be convenient for him to start work.
Mark the letter A, B, c, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 29: Determination must be made by uninterested trustees or independent legal counsel.
                               A                                                 B              C                     D
Question 30: She leaves the cookery book on the table in the kitchen yesterday afternoon.
                                 A              B                                         C                                      D
Question 31: The schoolgirl always prepares her lessons carefully so that she can understand it well.
                                     A                         B                              C                                                D
Mark the letter A, B, c, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Question 32: My aunt didn’t turn up at my parents’ wedding anniversary. I feel so sorry for that.
	A. If only my aunt turn up at my parents’ wedding anniversary.
	B. I wish my aunt turned up at my parents’ wedding anniversary.
	C. I wished my aunt had turned up at my parents’ wedding anniversary.
	D. It’s a shame my aunt had turned up at my parents’ wedding anniversary.
Question 33: My sister explained the way to cook the traditional food again. I could understand it.
	A. I couldn’t understand the way to cook the traditional food when my sister explained it.
	B. It was until my sister explained the way to cook the traditional food again that I could understand it.
	C. Not until my sister explained the way to cook the traditional food again could I understand it.
	D. No sooner did my sister explain the way to cook the traditional food again than I could understand it.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38. 
	Gap year is the term used to describe the year that some students take off before going to university. Gap year are quite popular in (34) ______ countries, including the UK, Australia and Germany. There are a variety of options available for people (35) ______ are thinking of taking a gap year. One is to spend the year travelling around the world. Another (36) ______ is to spend the year at home getting work experience. A third option is to do volunteer work, either at home or abroad. Some years ago, Sam Cooke chose this option and travelled to Ecuador to (37) ______ tuition in basic literacy for underprivileged children. “It was a wonderful experience and it really helped me become mature”.
	(38) ______, Sam warns that it’s not for everyone. “Voluntary work is certainly not an easy option and before you go you should make sure you are properly informed about the living conditions you will find there. Young people need to ask themselves if they’ll be able to put up with these conditions for a whole year.”
Question 34: A. much		B. every				C. many			D. other
Question 35: A. whose	B. which	C. when		D. who
Question 36: A. possibility	B. ability	C. probability		D. chance
Question 37: A. present	B. provide	C. offer		D. supply
Question 38: A. So	B. However	C. Although		D. But
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39 to 43.
One of the most famous statues in the world stands on an island in New York Harbour. This statue is, of course, the Statue of Liberty. The Statue of Liberty is a woman who holds a torch up high. Visitors can go inside the statue. The statue is so large that as many as twelve people can stand inside the torch. Many more people can stand in other parts of the statue. The statue weighs 225 tons and is 301 feet tall.
The Statue of Liberty was put up in 1886. It was a gift to the United States from the people of France. Over the years France and the United States had a special relationship. In 1786, France helped the American colonies gain independence from England. The French wanted to do something special for the U.S. centennial, its 100th birthday.
Laboulaye was a well-known Frenchman who admired the United States. One night at a dinner in his house, Laboulaye talked about the idea of a gift. Among Laboulaye’s guests was the French sculptor Frederic Auguste Bartholdi. Bartholdi thought of a Statue of Liberty. He offered to design the statue.
Many people contributed in some way. The French people gave money for the statue. Americans designed and built the pedestal for the statue to stand on. The American people raised money to pay for the pedestal. The French engineer Alexander Eiffel, who was famous for his Eiffel Tower in Paris, figured out how to make the heavy statue stand.
In the years after the statue was put up, many immigrants came to the United States through New York. As they entered New York Harbour, they saw the Statue of Liberty holding up her torch. She symbolized a welcome to land of freedom.
Question 39: Which of the following can be the best title for the passage?
	A. Laboulaye – a Well- known French Sculptor		
	B. The Relationship between France and America 
	C. A special gift: The Statue of Liberty			
	D. The first immigrants to the United States
Question 40: According to paragraph 4, the pedestal for the statue was _______. 
	A. designed and built by Bartholdi	
	B. as famous as the Eiffel Tower in Paris
	C. designed and paid for by Americans	
	D. not strong enough for the heavy statue to stand on
Question 41:  The word “its” in paragraph 2 refers to _______. 
	A. American	B. France	C. England	D. the U.S
Question 42:  The word “raised” in paragraph 3 is closest in meaning to ______ .
	A. earned		B. spent	C. collected	D. kept
Question 43:  All of the following statements are true EXCEPT _______.
	A. The statue was the result of a very good relationship between France and the USA
	B. The statue is large enough for twelve people to stand in it
	C. The French made the statue a gift to the USA on the occasion of its 100th birthday
	D. The Statue of Liberty is a woman who holds a torch up high
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the question from 44 to 50.	
	Critics of zoos would argue that animals often suffer physically and mentally by being enclosed. Even the best artificial environments can't come close to matching the space, diversity, and freedom that animals have in their natural habitats. This deprivation causes many zoo animals to become stressed or mentally ill. Capturing animals in the wild also causes much suffering by splitting up families. Some zoos make animals behave unnaturally: for example, marine parks often force dolphins and whales to perform tricks. These mammals may die decades earlier than their wild relatives, and some even try to commit suicide.
	On the other hand, by bringing people and animals together, zoos have the potential to educate the public about conservation issues and inspire people to protect animals and their habitats. Some zoos provide a safe environment for animals which have been mistreated in circuses, or pets which have been abandoned. Zoos also carry out important research into subjects like animal behaviour and how to treat illnesses.
	One of the most important modern functions of zoos is supporting international breeding programmes, particularly for endangered species. In the wild, some of the rarest species have difficulty in finding mates and breeding, and they might also be threatened by poachers, loss of their habitat and predators. A good zoo will enable these species to live and breed in a secure environment. In addition, as numbers of some wild species drop, there is an increased danger of populations becoming too genetically similar. Breeding programmes provide a safeguard: zoo-bred animals can be released into the wild to increase genetic diversity.
	So, are zoos good for animals or not? Perhaps it all depends on how well individual zoos are managed, and the benefits of zoos can surely outweigh their harmful effects. However, it is understandable that many people believe imprisoning animals for any reason is simply wrong.
Question 44: Which of the following does the passage mainly discuss?
	A. Artificial environments can't benefit animals as their natural habitants do.
	B. It is wrong to imprison animals for any reason.
	C. Well managed zoos can do more good than harm to animals.
	D. There are both proponents and opponents of zoos.
Question 45: The word abandoned is closest in meaning to ______.
	A. ignored	B. injured	C. caught		D. hunted
Question 46: According to the passage, dolphins and whales are examples of ______.
	A. conserving mammals for education	B. materials for studying zoology
	C. abnormal manners in mammals	D. animals in their natural habitat
Question 47: The word they in paragraph 3 refers to ______. 
	A. zoos		B. breeding programmes
	C. the rarest species		D. mates 
Question 48: The word poachers is closest in meaning to ______.
	A. predators	B. illegal hunters	C. harmful insects		D. diseases
Question 49: Which of the following is NOT true according to the passage?
	A. Endangered species often lack genetic diversity in their population  
	B. Genetic diversity can be promoted thanks to breeding programmes.
	C. Only animals living in the modern zoos suffer physically and mentally
	D. Some endangered species have difficulties meeting a mate and breeding in the wild
Question 50: Which of the following can be inferred from the passage?
	A. Imprisoning animal is a wrong act for any reason.
	B. The belief that capturing animals is wrong is inevitable.
	C. Zoos are safe places for breeding programmes.
	D. The writer disagrees that animals should be kept in the zoo.
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